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Exercise 7.7
Question 1:
Va7
Answer 1:

Let/ = N4—x1dx= N(2)2 —(x):dx

: — ¥ro—=a X
It is known that, I\Ja‘—x“dng a —x° ?sm Skt s )

a
.'.]=§m+%sin"§+C
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x o e D
=—+4—x* +2sin" =+C
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Question 2:
1—4x°
Answer 2:

Let /= [V1-4xdv= I,/(l)z—(l\'):dr

Let2x=1 = 2dx=dt

e =% '[J(l)l —(t) d

It is known that, I\/a: -xtdx= g\faz —x? +%sin" *e
a
_ L% g bosea
DI—EI:; 1-1 +sin t]+C

o -

t R (A
=—1-£* +—sin""1+C
4

4

o
=% l—4x2+%sin"2x+C
=1§\/l—4x2 +%sin"2x+C
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Question 3:

JxP+4x+6

Answer 3:

Let 7= |\x'+4x+6 dx
N
= j\/x2+4x+4+2 dx

= J\/(f +4x+4)+2 dx

= j\/(x+ 2)° +(\/5)2 dx
It is known that, J-\l.\'z +a‘dx = %\),\'2 +a’ + % log

x+x}x2+a2'+c

.'.lz(xzz) \/x"+4x+6+§log (x+2)+\f_\-"+4x+6’+C
e~ 2 2 - )
=M\lx'+4x+6+log‘(.\'+2)+\/x‘+4x+6 +C

2

Question 4:

Vi +4x+1

Answer 4:

m1=j\/f+4x+1dx

= [J(x +4x+4)-3ax
. IJ(.\'+2)2 ~(V3) dx
It is known that, J\fxz —a*dx =§«)x2 -a’ - % log x+vx*=a’ +C

)
.'.1=('\—;L”—)\/x3+4x+ —%log!(x+2)+\/x3+4x+l‘+C
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Question 5:

VI—4x—x?

Answer 5:

Let/ = j\/l—4x—x’ dx
= I\/l—(x:+4x+4—4)dr
= j,{l+4—(x+2)2 dx

= J'\/(\/E) —(x+2): dx

) — N v R
It is known that, I\/a’—x‘a’x=; @ —x" +—-sin '=+C
v 4 a

o - 2
.'.1=m\/|—4x—x' +§sin '("jg )+C

(8]

Question 6:

JxP +4x-5

Answer 6:
Let [ = j\/xf +4x—5dx

= I‘/(\ +4x+4)-9 dx

= I‘f(x+2): —(3)2 dx
It is known that, J'\Ixz ~a*dx= %\/.\‘2 -a’ - % logx++vx*=a® +C

)
.-.1=("_;"_)fo +4.x—5—§log}(x+z)+\/f +4x=5/+C
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Question 7:
V143x—x°
Answer 7:
let/ = jdl+3x—x:dx
9
I\[ \‘ =3x +———)dx
= I\/(HE]—[A'——J dx
4
(76
= —_— = x==| dx
2 2
It is known that, I a’-x dx-——;:\iaz—x: +< sin 24
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2x-3 = > 13 . f 2x-
= \)I+_ax—x +—sin
4 8

Question 8:

Vx© +3x

Answer 8:

Let/ = j\/xf +3x dx

_ j\/rder
= rop
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It is known that, I\h‘z -a’dx= %Jxl -a —% log x +vx* =a* +C

i — -
s qe=x 2 x3+3x—%log(x+%)+ x*+3x|+C

2
2x+3 > 2
= (\f:)\/x' +3x —%log [.H- %)+ VXt 43x

+C

Question 9:

-

B
9

Answer 9:

Let [ = Hl+§dr=;j 9+ x? dr=; ‘[,/(3)%3-2 dx

o -~ X 3 3 a: o
It is known that, Ix}.\'z +ady="Nx"+a + 7 log '.\' x4+ a’ ' +C

X
2

3 3 9 -
I %{;\)x +9+;|og‘x+\)x‘ +9H+C

~

=% X' +9 +%Iog,lx+\fx2 +9‘+C

Question 10:

J““ +x2de isequal to
x+\/1+x2'+C

% l+r3+|lo
A. > : 5 £

,

B. %(]+.’(:)J+C

3

2 1\3

—x(1+x° )2 +C
. 214

1\-;; l+x2+;|;x1 Iog‘x+\fl+x:'+C
D. = <~
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Answer 10:

. . BT S8
It is known that, I\)a‘ +xdx= 5\/0‘ +X+ % log

2 ‘"
x+\1x2+a‘|+C

+C

I\)l+.\-3dx:£\/|+x’ +%Iog x4+ 1+x°

2
Hence, the correct Answer is A.

Question 11:

I\/.\': “8x+7dc  isequal to

A. %(.\'—4)\}.\’2—8):4»7 +9log|x—4++/x° —8x+7‘+C
B. %(.\'+4)\/.\'3—-8x+7 +9log|x+4+\fx2 -8x+7l+C

C. %("'_4)\’-"2‘8x+7—3J2—|0gI.V—4+V.r:—8x+7‘+C
D. %(.\‘—4)1{_(2_8x+7_glog.\,_4+ 1—\'1—8x+7‘+C

Answer 11:

Let/ = [\x? —8x+7 d
- IJ(x3—8.1'+l6)—9dx
= [J(x-4) =(3)" ax

It is known that, j\f.rz —atdx="x*-a’ - 22: log x+vx*—a’ +C

X
2

x=4) ———= ¢ > -
sl = (‘2 )\"x'—8x+7—;log‘(.x—4)+\}x' —8.\'+7'+C

Hence, the correct Answer is D.

www.tiwariacademy.com

A Free web support in education
R E————

6



www.tiwariacademy.com

